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IF a fiem's matpital product of lshor is Jess zn its averzpe producd of labat, thea an
incréase in itz uze of labor wilt
4, vedooe ite tolal product.
b, redugs itz average product of lahor.
t. inercase its marginal product of labor.
d. not chenge its aveeape product of labor, :
W ool ¥ oon the verlical axds asnd poced 3 on the horizontzl axig, whicl of
folloving stateiments s TRUE?
i, [f the indifferance curve is steep, the Toarpingl vate of 2ubstitulion is high.
bo A low marginal rane of substitution implies a relatively Tt indifference curve,
e. A relatively fial indifiference gurve Emplies that a consumer must receive a lange
amgwund of 20c4d X Lo compensate for a small decrease in pond ¥
d. & high rate of macginal substitation impties that 3 consumer musl receive i largs
ameunt of good X ta compessae for a small deerease in good ¥
Lot SRAL stand for shoct-run average cosi, When 2 finn 15 in long-run equilibeium,
115 lonp-rom average Gost Cuenee
8 intersecrs i3 SRAC curve ot the SEAL corve's minhavm poind,
b, intersects s BRAC curve, but not at the SRAC corve's minjmun paiod,
G LS tangent o its SRAC cueve al the SEAC curves minimuen, poiat,
d. iz tangent to {3 SRAC curve, bol not &t the SELAC curve's miniratn poiit.
If price fulls below the minfmum point on the AVC curve, the best & competitive finm
can deo iz (o
3. kecp producing and take = loss pqual i jts to1al warkable cost,
b, keep preducing and tuke a losz cqual 1o its fotal Gred cost,
€. shut down and 1wk a loss coueal to its total variable cost,
d.  shut down and take & loss equal to ils total fixed cost.
Compared 10 o compeeitive indostey, & monapaly fransfers
a  deadwerghe loss to eonsumers,
b, deadweaight lozs to produeers,
o producer sucplus B consumers,
i, donsumer surplus o producers.
A price digcrimingting sranepolist charges lower prices o cuslomans with
A lowwer quantities demandid.
b, higher guantities deeriaunded.
e, lower clasticities of dermze.
d.  Ingher elasticitics of dematd.
[y the dotvinanl Bron rodel of gligepoly, the ¢lasticity of the dominant frm's demand
CULYE
& ig less dean thes elaslicily of the industny demand carve,

B, cquals che elasticily of the industry demand cure.
. exoceds the elasticily of the industny demand curve.
d.  varies inversely witly the peice,
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8. InFig. 13.], if the fitm is in motopalisiic compelition, i will produce wheee I
demand sueve
a has zero claglicity.
b, has slosticily betereen © and 1.
G, has umilamy elaslicity,
d. s clastic.
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2. A crowded 1ol] coad 15 an example of a
a  publi; pood.
B privace good,
¢ amixed good.
id,  2ervice,
10, Ada given prodeet price and quantity, the steeper the marginil revenue product cures,
2. e move claglic iz (he demand for the factor.
b. the more inelastic is the demend For the foctoc,
. the less ibtensive is e factor use.
d. (ke geapdey is the demand for Moed-post fastors.
1l. Full emoplgyment occurs when
a.  stroctvral enemployment is zéra,
k.  cyclical uncmployment 05 weoo,
c. foctional wnemploymenl 15 oo,
d. c¢yehcal and frictional wnempioyinent arc zero.
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E2. Fram Table 6.2, net demestic prodect is

T4

14

13,

a  ¥1,920,
b, ®).940.
o, B2 IS0
d. $2.400.
Table 6.2
Corpacile profits F200
et interest ieome 150
Indireet buginess taxes 2
Deprociation 250
Compenzetion of smployees 1,254
Proprvtors' incene 150
Fental income Fil
Personal consumption expendinres 1,400
Coverminent expendilores - 300
Government wanzfer pavineals =0

" et expors 40

If thare are 1o taxes or imponz and the MPC is the marginal propensity to sonsume,
the multiplier is

a8 LWPC- 1)

b BMPCHL - MPC

e 14l - MPC).

d. MPCAMPC - 1),

Suppose that capital per hour of work ingreases by 12 pereent while real GDP per hooe
af wark, increasss by L0 percont. What is the coleibulion 1o the increass in real GOP
pur hour of woyk feam changing technolopy?

. It increaged rea] GDP per hour ofwork By 12 pergent,

B It tncreased real GEP per lour of work by 14 pereene.

<. Itincressed real GDF per hour of work by & poreent.

d.  Nincreased eeal GDT per hour of work by 3.32 pereeni.

Whech of the following DOES cause a demand-pull inflation?

& Increases in fovecnment purcliages.

b, Increases in hel exports,

t. Increases in oil prices.

d, Incresscs inthe money supply.

- In e short ren, an iterzage i e meney supply Teak FEM fund (e price

level.

& Inmcreases; raiges

b does ol change; lowers
& dogreases; mises

d.  decreases; lowers
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L7, Befer tg Fig. 18,1, Wilh free trade betwoen the United Svates and Japan in autamobilcs,
each vear
i the United States will export 4 million awies wo Japan,
b Japan wili export 4 million autos to the Winited States,
€. Mz United States will export 5 million aueos o Japan,
d. Japun will export 5 million autos w the United States,

Frgure 19 1 Japanese sxped suprly [with ik
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18. b Figwre 1901, the coonomy is iniially a1 point 4 and investment declines, [
Feynesian business cycle theory, he economy will move to point
&b
h. =
e d,
d e

Figure 15,1
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I, therc arc two fions A and B in lhe marksl, 1o the following Figure 3.1 shows the
markst dermand Tunction (Db, the Industry average cost and matgital cost corves.
(% What 3s e equilibvium markct priee and individual peofit when they collude?
by If ane fitmn cheatz on the apreemenl, lowerng i65 price, bud the other G does nat,
it will get 73% of the business and eacn profits of $5 million and the other frm will
lose 52 million.  EFboth fimnsg cheat, Mey will end up whith 32 aallien gxcl in
profits.  Which stmlegy tminitizes the mesitom potentiad loss for AT Explain
fel Whan 3= the mest lkely owteame of such a game?  Explain. (&3 & = &)
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Figore 3.1

3. A trout FBemer ond @ pesticide maker are Incated nexi to cach othor on dhe side of 2
{ake.  The gesticide maker can dispose of waste by dumping it inte Qie l2ke ot by
teacking it to = saie Jand swrape place,  The marginad cost of wucking is a constant
S100 aton. The trow [onec's profit dopends on how mucl waste the pestiaid
maker duanps intg the lake and is es foflows:

quantily of wasie (tons per week)  “Trout farmer’s poofit {dallars per week)
LK)

Qa0

B75

75

{50

S0

325

125

=] g L ode L b — 3

(A) what iz the cfficient amount of waste 1o be dunped inlo the Jake?

(B If no ons awns e lake and that the government inleoduees a pellution tax, Wit
ig the tax per lon of wasie dumped?

ie] [f noone owns the lake ad That the government izsucs markelable potlution
permils to btk the lazmer and the fctery,  Bach ray dump the szme amowit of
waste Uithe lake,  What is the market price of 2 peooit? (35 4 E5 = &)




